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QUESTION 1

A user complains about poor database performance. You suspect that the user\\'s session is losing time waiting for
events to complete.

You want to verify this.

Which view reveals on what events a session has spent time waiting in the past?
A. V$SESSION_WAIT_CLASS

B. VSSYSTEM_EVENT

C. V$SESSION

D. V$SESSION_EVENT

E. VSSESSION_WAIT

Correct Answer: C

Reference: https://blogs.oracle.com/oraclemagazine/beginning-performance-tuning

QUESTION 2

Examine this command:

CREATE TEMPORARY TABLESPACE temp thbs

TEMPFILE ‘temp0l.dbf’ SIZE 10M
AUTCEXTEND ON
ONLINE

SEGMENT MANAGEMENT AUTO;
Which two changes must you make so that TEMP_TBS is created? (Choose two.)
A. Add the EXTENT MANAGEMENT LOCAL UNIFORM clause.
B. Add the NOLOGGING clause.
C. Remove the SEGMENT MANAGEMENT AUTO clause.
D. Remove the AUTOEXTEND ON clause.
E. Remove the ONLINE clause.
F. Add MAXSIZE for the AUTOEXTEND ON clause.
Correct Answer: AF

Reference: https://asktom.oracle.com/pls/asktom/f?p=100:11:::::P11_QUESTION_ID:374218170986



QUESTION 3

Which two are true about the default listener for a single instance database? (Choose two.)
A. It must be defined in the LISTENER.ORA file.

B. It must support at least one service on startup.

C. It must be defined by using the Listener Control utility.

D. It listens on the default port 1521.

E. It uses the settings of the INSTANCE_NAME and SERVICE_NAMES parameters from all databases using that
listener.

Correct Answer: AD

QUESTION 4

Which three are true about Oracle Database backup taken with RMAN?
A. A whole backup contains all data blocks of all data files.

B. RMAN cannot backup REDO logs.

C. A full backup contains all data blocks from one or more data files.

D. An RMAN image copy can be written only to disk.

E. Only offline backup are consistent.

F. RMAN always includes the control file in a backup.

Correct Answer: CDF

QUESTION 5

Which is true about roles?

A. A role can be granted to other roles.

B. Roles can be created only by SYS or SYSTEM.

C. Roles containing object privileges can be created only by the object owner.

D. All roles belong to the SYSTEM schema.

E. A role can be password-protected only if it has been granted system privileges.

Correct Answer: E




QUESTION 6

Which two functions are performed by a listener?

A. creating a user session in the System Global Area (SGA)

B. verifying the service name in an incoming user request

C. verifying a user\\'s authentication credentials

D. maintaining the connection to a client\\'s user process until the user request is completed
E. returning the results of processing from the server process to the user process

F. connecting a user process to a server process

Correct Answer: EF

QUESTION 7
The ORCL database has DEFERRED_SEGMENT_CREATION set to TRUE.
UNDOTBS?2 is the active undo tablespace.
Examine these commands:
SQL> SELECT tablespace_name, Sstatus, retention

FROM dba_tablespaces
WHERE tablespace_name LIKE 'UNDO%';

TABLESPACE_NAME STATUS RETENTION
UNDOTBS1 ONLINE NOGUARANTEE
UNDOTBS2 ONLINE GUARANTEE

SQL> SELECT tablespace_name, autoextensible, bytes/1024/1024 “SIzZE”
FROM dba_data_files WHERE tablespace _name LIKE 'UNDO%';

TABLESPACE_NAME AUTOEXTENSIBLE SIZE
UNDOTB1 YES 70
UNDOTBS2 NO 2

USERL1 executes DML, which generates more than 2 MB of UNDO.

What is the result and why?



A. It suspends the transaction, which can be resumed by increasing the size of UNDOTBS2.

B. It returns an error because UNDOTBS?2 is fixed size and has RETENTION GUARANTEE.

C. It suspends the transaction, which can be resumed by increasing USER1\\'s quota on UNDOTBS2.

D. It returns an error because UNDOTBS2 has RETENTION GUARANTEE.

E. It suspends the transaction, which can be resumed by setting UNDOTBSL1 as the active undo tablespace.
F. It returns an error because UNDOTBS?2 is fixed size.

Correct Answer: F

QUESTION 8

Which two backup configurations are set by default when you choose Cloud Storage Only as the backup destination?
(Choose two.)

A. encryption of backups only for Enterprise Edition databases

B. automatic daily full database backups

C. RMAN incremental backups in a seven-day cycle

D. encryption of backups only for High Performance and Extreme Performance database versions
E. on-demand backups that need to be scheduled

F. encryption for all backups

Correct Answer: CD

QUESTION 9
In the ORCL database, DEFERRED_SEGMENT_CREATION is FALSE.

Examine this command:

SQL> CREATE TABLE tl(cl INT PRIMARY KEY, c2Z2 CLOB);

Which table segments are created?
A. T1 and an index segment created for the primary key only
B. T1, an index segment for the primary key, a LOB segment, and lobindex segment

C. Tl only



D. T1, an index segment for the primary key, and a LOB segment only

Correct Answer: D

QUESTION 10

Which two are true about undo tablespaces? (Choose two.)

A. They can be recovered only when an instance is in MOUNT state.

B. They are always owned by SYS.

C. They must have only one data file.

D. There can be multiple active undo tablespaces for a single instance database.
E. SYSDBA users can create objects in them.

Correct Answer: CD

QUESTION 11

Examine this command and its partial output:

LSNRCTL> start LISTENER_ 1
Listening Endpoints Summary...

(DESCRIPTION= (ADDRESS= (PROTCCOL=tcp) (HOST=host0l.abc.com ) (PORT=1562)))
Services Summary...

Service " DBOl.abc.com "™ has 1 instance(s).
Instance "™ DBOl1 ", status UNKNOWN, has 1 handler(s) £for this service...
The command completed successfully

Why does the DB01.abc.com service show unknown status?

A. The listener does not listen on the default port 1521.

B. The SID_LIST_LISTENER section is missing in the LISTENER.ORA file.
C. The service is dynamically registered.

D. The service is statically registered.

E. The LOCAL_LISTENER parameter list does not contain LISTENER_1.

Correct Answer: B




QUESTION 12

Which two operations can be performed on external tables? (Choose two.)
A. creating invisible indexes

B. creating views

C. creating partitions

D. creating public synonyms

E. executing UPDATE statements

Correct Answer: BD

Reference: https://oracle-base.com/articles/9i/external-tables-9i
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